(RaodeMath
Kanguru der Mathematik Osterreich — 16. 3. 2023
Level Ecolier (Schulstufe 3 and 4)

- 3 Point Examples -

1. Five children each light a candle at the same time. Lisa blows out the candles at
different times. Now they look as shown in the picture.
Which candle did Lisa blow out first?

Nam em méi em thdp mgt ngon nén cling mét ldc. Lisa thai nén vao
nhitng thoi diém khac nhau. Bay gio ching tréng giong nhu trong

hinh. Lisa da théi tat ngon nén nao dau tién? A B CDE

(A)A (B)B ©C (D) D (BE)E

2. The two markers with a question mark have the same value.

Hai ddu c6 ddu cham héi cé gid tri nhu nhau.

Which value do you have to use instead of the question mark so that the calculation is
correct?

Ban phdi sir dung gia tr; nao thay cho ddu cham héi dé phép tinh diing?

(A) 1 (B) 2 (C)5 (D) 10 (E) 20
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3. A black disc with two holes is placed on top of a dial of a watch.
The black disc is turned.

Which two numbers can be seen at the same time?

MGt dia den c6 hai 16 dwoc dat phia trén mdt dong ho.

Dia den dwocC quay.
Hai sé ndo c6 thé nhin thay cung mét lGc?

(A)4and 9 (B) 5and 10 (©)5and9 (D) 6and 9 (E) 7and 12

4. Alice has these four jigsaw pieces:
Alice ¢ bén manh ghép sau: - m
Which two can she put together to form this square? = - . 5 4 .
Co dy c6 thé ghép hai cai ndo lgi véi nhau dé tao thanh hinh vudng?

(A)land?2 (B) 1and 3 (C)2and 3

(D) 2and 4 (E) 1and 4
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5. Maria switches the lights on and off according to the given plan.

Maria bdt va tar den theo ké hoach dé cho

Licht 1
Licht 2
Licht 3

0 1 2 3 4 5 6 7 8 9 10 11 12
Minuten

For how many minutes in total are there exactly two lights on at the same time?
Tong cong c6 bao nhiéu phiit ¢é ding hai dén sdng cing mét 1G¢c?

(A) 2 (B) 6 (C) 8 (D) 9 (E) 10

6. Christoph folds a see-through piece of foil along the dashed | | ‘ : |:|
line. What can he then see? | . —‘ .

Christoph gdp mgt manh gidy bac trong suét doc theo dirong dut | :,_ = F i
nét. Sau dé anh ta cé thé nhin thdy gi? . I_ . .

w0 b =i o1 81
(D)EIEE (E)EDI‘|
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7. Anna has four discs of different sizes. She wants to build a tower using 3 discs. A
smaller disc always has to lie on top of a bigger disc. How many ways are there for

Anna to build this tower?

Anna ¢6 bon chiée dia c¢6 kich cé khac nhau. C6 dy mudn xay mét @

tda thap bang 3 chiéc dia. Bia nhé hon luén phdi nam trén dia lon

hon. C6 bao nhiéu cach d@é Anna xay toa thap nay? @

(A)1 (B) 2 (C) 4 (D)5 (E) 6

8. Daniel sticks these two pieces of paper Q Don this black circle: .

The two pieces of paper are not allowed to overlap. Which picture does he get?

Daniel dan hai mdnh gidy nay 1én vong tron mau den nay: Hai manh gidy khéng dweoc

phép chong Ién nhau. Anh dy nhdn dirot birc dnh nao?
© @

(A) @ (B) ®
(D) @ (E) @
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- 4 Point Examples -
9. Using the pieces A, B, C, D and E one can fill this shape completely:
Sir dung c&c quan co 4, B, C, D va E nguoi ta ¢6 thé dién day di hinh nay:
Which of the pieces lies on the dot? \

Nhing quan co ndo nam trén dau cham?

(A) b (B) Q (©) (D) (E)

10. The six weights of a scale weigh 1 kg, 2 kg, 3 kg, 4 kg, 5 kg and 6 kg. Rosi places
five weights on the two scale pans so that they are balanced. The sixth weight is left
aside. Which weight is left aside?

Can ngng sau qua can 1kg, 2kg, 3kg, 4kg, 5kg, 6kg. Rosi dat nam qua can lén hai dia
can sao cho chiing can bang. Trong lieong thit sdu diroe dét sang mét bén. Trong hrong
nao duoC bo qua mot bén?

G000, [0, @

(A) 1 kg (B) 2 kg (C) 3 kg (D) 4 kg (E) 5 kg
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11. The diagram shows four cars 1, 2, 3 and 4. The arrows show where the

cars move to in 5 seconds. Which cars will crash into each other? /®
So'd6 thé hién 4616 1, 2, 3 va 4. Cac mili tén chi Vi tri 610 di chuyén téi ~ - T o

trong 5 gidy. Nhizng chiec xe nao sé diam vao nhau?

(A) 1and 2 (B) 1and 3 L ZCLZ
(C)land 4 (D) 2and 3 (E) 3and 4 ®/

12. North of Stralle A (street A) there are 7 houses.

East of Stralie B (street B) there are 8 houses.

South of Stralle A (street A) there are 5 houses.

How many houses are there West of Stral3e B (street B)?

Phia bdc Strafe A (dwong A) ¢6 7 can nha. Phia déng Strafie B (dwong B) ¢é 8 can
nha. Phia nam Strafle A (dwong A) c6 5 can nha. Co bao nhiéu can nha ¢ phia Tay
Strafpe B (dwong B)?

(A)4 (B)5 (C)6 (D)7 (E)8
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13. In aqueue in front of a ferry there are 8 cars with 19 people in total. There are either
2 or 3 people in each car. How many cars are there with exactly 2 people?

Xép hang truéc mét chiéc pha c6 8 & t0 véi tong cong 19 ngueoi. Méi xe c6 2 hodc 3
nguoi. CO bao nhiéu 0 t6 cho dung 2 nguoi?

(A) 2 (B)3 (C)4 (D) 5 (E)6

14. 6 beavers and 2 kangaroos are standing on the fields in this order: Of three animals
in a row there is always exactly one kangaroo. On which of these numbers stands a
kangaroo?

6 con hdi Iy va 2 con kangaroo ditng trén canh dong theo thi tir sau: Trong 3 con vat
xép thanh mét hang luén cé ding mét con kangaroo. Trén con sé ndo duwdi ddy cé hinh

T 0000600®

(A)1 (B) 2 (€3 (D) 4 (E)5
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15. Hanni wants to colour in the circles in the diagram. When two
circles are connected by a line they should have different colours.
What is the minimum number of colours she needs?

Hanni mudn td mau cac vong tron trong so do. Khi hai vong tron dwoc
noi béi mét dwong thang, ching sé 6 mau khéac nhau. Sé lwong mau
it nhdt ¢ dy can 1a bao nhiéu?

(A)2 (B)3 (C) 4 (D)5 (E)6

16. A building block is made up of five identical rectangles:

Mgt khoi xay dung duwotc tao thanh tir nam hinh chi nhdt giong hét
nhau:

How many of the patterns shown below can be made with two such building blocks
without overlap?

C6 bao nhiéu mdu dudi ddy c6 thé duwoc tao ra bang hai khéi xay dung nhir vay ma
khong chong 1én nhau?

(A)1 (B) 2 (€3 (D) 4 (E)5
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- 5 Point Examples —

17. An underground line has the six stations A, B, C, D, E and F. The train stops at
every station. After reaching the end of the line A or F the train continues in the
opposite direction. The train conductor starts his journey in station B. His first stop is
in station C.

Mt tuyén tau dién ngam c6 sdu ga A, B, C, D, E va

~ 4 7. 7 « *
F. Tau dung ¢ moi ga. Sau khi den cuoi tuyén A hogac Joooooo(
F, tau tiep tuc di theo huéng nguroc lai. Nguoi soat “
vé tau bar dau hanh trinh ¢ ga B. Diém ding dau A B C D E F
tién cua 6ng la o ga C.
In which station will be his 46th stop?
Ga nao sé la diém dung thiz 46 cia anh dy?
(A) A (B)B ©)C (D)D (E)E

18. Rebecca folds a square piece of paper twice. Then she cuts off one corner as you
can see in the diagram. Then she unfolds the paper.

Rebecca gap mét manh gidy hinh vuéng hai ldn. Sau dé < """ — /\ — G
cd dy cdt bé mét gée nhw ban c6 thé thdy trong so do.
Sau dé cé dy mo to giay ra.

What could the paper look like now?

To gidy bay gio c6 thé tréng nhw thé nao?

(A) L (B) <> (C)
(D) (E) #
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19. Three boys enter a room one after the other.

Hermann is not the first.

Felix is not the second.

Clemens is not the third.

How many different orders are there for the boys to enter the room?
Ba chang trai lan Lot vao phong.

Hermann khong phdi la nguoi dau tién.

Felix khéng phdi la nguroi ther hai.

Clemens khong phdi la nguroi ther ba.

C6 bao nhiéu thez ty khac nhau dé cac em vao phong?

(A)1 (B) 2 (O (D)4 (E)6

20. Five clocks are hanging on the wall. One clock is one hour ahead. Another one is
one hour late and one is correct. Two clocks have stopped working. Which clock shows
the correct time?

Ndam chiéc dong hé dang treo trén twong. Mét chiée dong hé chay triréc mét gio. Mot
cai khac chay chdm hon mét gio va mét céi dung Hai chiéc dong ho da ngc‘rng hogt

dong. Hoi dong ho nao hién th; thoi gian dang’P 12 3 l/ 3 5 |_2
(A) A (B) B (©)C

(D) D (E) E
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21. Adam has 9 marbles and Brenda also has 9 marbles. Together they have 8 white
and 10 black marbles. Brenda has twice as many black marbles as
white marbles. How many black marbles does Adam have?

Adam c6 9 vién bi va Brenda ciing cé 9 vién bi. Cong lai ho cé 8
vién bi trang va 10 vién bi den. Brenda cé sé bi den gdp déi s bi
trang. Héi Adam ¢6 bao nhiéu vién bi den?

(A)3 (B) 4 (€)5 (D)6 (E)0

22. Else has two machines R and S.

Else co hai may R va S.

If she puts a square piece of paper into machine R it is rotated: [
~R |-

Néu ¢ dy dat mét manh giay vudng vao may R thi n sé quay:

If she puts the piece of paper in machine S it is printed on: [

Néu b dy dat manh gidgy vao may S thi n6 sé dwoc in trén:

She wants to produce the following picture:

Cd dy mudn tao ra hinh anh sau: $o

In which order does Else use the two machines so that she gets this picture?

Else si dung hai chiéc may theo thir tir ndo dé cé dwoc birc anh nay?

(A)SRR  (B)RSR  (C)RSS E-J. 2 > 2 |=| ? »E
(D)RRS  (E) SRS
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23. A teacher wants to write the numbers from 1 to 7 into the circles. He writes exactly
one number in each circle. When he adds up the two numbers of circles that are next
to each other, he gets the number that is written between the two circles. -

Which number does he write in the circle with the question mark?

MGt gido vién mudn viét cac sé tir 1 @én 7 vao cac vong tron. Anh ta viét 2
chinh xac mét sé vao mai vong tron. Khi céng hai sé hinh tron cenh nhau,
anh ta nhdn duwoc so viét giira hai hinh tron.

Anh ta viét s6 ndo vao vong tron c6 dau cham héi? 9

(A)1 (B) 2 (O (D) 4 (E)5

24. Maria colours exactly 5 cells of this grid U in grey. Then she has her 5 friends
guess which cells she has coloured in and their answers are the five patterns A, B, C,
D and E. Maria looks at the patterns and says: “One of you is right. The others have
each guessed exactly four cells correctly.”

Which pattern did Maria paint?

Maria t6 mau chinh xac 5 6 cia lwdi ndy bang mau xdm. Sau do, ¢é nho 5 nguoi ban
dodn xem ¢é dd té mau vao 6 ndo va cau trd loi cua ho la nam mau A, B, C, D va E.
Maria nhin vao cac mdu va néi: “Mét trong sé cac ban néi diing. Nhitng nguoi con lgi

Moi nguoi dodn dung bon 6.’

Maria dd vé mau nao?

(A) (B) (®

(D) (E)
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